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TQURSHon 2 : Calculate the pH of a mhlhon of 20m]. of 0.250 M of the acid HA,
(A is acid group) Ks (HA)=7.1 10°*
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» Question 3; Calculate the piy of 3

solution of 2507, of 0.055M JC& a '
Potassium salt, A ig geig Eroup) o885 1o which I5mL ofa 0.2 M gG (29) is addleq,
Ka (acid HA)~7 4 10
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3 alculgte ¢he concentration iy molarity of 30,1, of NaF f
60mL of 0.55 M B, ' nt .
Ka

i needed g0 titrate to the endpoi
= 6.810%
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Question : In an assay of 2 solid saniple containing that analyte
~ was taken and 77% of (%w/w or %m/m) was found. The measurcment included
dissolving the solid samplp in water to 200mL, and removing from that a S0ml. aliquot
for the titration with 024MofKOHtolhemdp0mt What waiy the Molar Mass

{or MW) of the mqum.q_) '

Question 6 :  How many granis (g) of Fels you necd 10 prepare 2 M solution of I if it
was completely dissolved in 500mL of & solvent? .
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Question 7 : Calculate how many M ofl.aiglo_-,): will dissolve in 350 mL @
LiIOs?  Kspfor La(iOs) > =0.99 10° >
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Question 8 : Calculate the molarity of 40ml of HCl solution that was used in
titration to completely react with S50mL of 0,SM NaxCO: solution.

AU ¢ Po, COn = qc‘o3 « 2Va
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Question 9: (2) Draw a simple diagram that shows titration instrumentation for
=~ titration of Na with BC], Show analyte and titrant.
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(b) Show how you can prepare & 0.250L of 1 M solution of Na;COs nsing a
volumetric fissk. (MM = 106g/mol) Na;COs). Draw the glassware you are going to
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Question 10: Calculate the pH of a solution madeé fiom 0.650 males of NaOH

dissolved in 16080cm’ of water: | /0‘“‘.3:1 //&,( :9 /@-—Z L
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— Question 21: What is the pR of 2,50L of a buffer made of 1.9M of acetic acid and
1.85M of sodivm acetate (Ka=10"%)
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Question. 12: Calcnlate the pH of a 0.500 M solution of NaC;H0: (Ka=1810% ~
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